

Annual Mowing of City Facilities (#7728299)

Owner: Baytown TX, City of

Solicitor: Baytown TX, City of

04/27/2021 02:00 PM CDT

Section	Tit Line Item	Item Code	Item Description	UofM	Quantity	Unit Price	McLemore Building Maintenance Inc Extension	Horticare Landscape Management Unit Price	Extension
							\$20,762.50		\$36,324.50
SECTION 1 - Police Locations									
	1.1	016-008	Radio Shop	Cycle	13	\$43.75	\$568.75	\$52.50	\$682.50
	1.2	016-006	Police Academy	Cycle	39	\$262.50	\$10,237.50	\$420.00	\$16,380.00
	1.3	016-007	Police Administration and Jail Facility	Cycle	39	\$75.00	\$2,925.00	\$300.00	\$11,700.00
	1.4	016-009	Ron McLemore Police Sub-Station	Cycle	22	\$75.00	\$1,650.00	\$82.50	\$1,815.00
	1.5	016-010	Department of Transportation	Cycle	22	\$56.25	\$1,237.50	\$48.50	\$1,067.00
	1.6	016-014	Police/Fire Storage Facility	Cycle	39	\$106.25	\$4,143.75	\$120.00	\$4,680.00
Section 2 - City Site Locations							\$10,318.75		\$8,320.00
	2.1	016-012	Utility Billing and COllection	Cycle	26	\$87.50	\$2,275.00	\$82.50	\$2,145.00
	2.2	016-013	Communications Radio Tower	Cycle	13	\$56.25	\$731.25	\$100.00	\$1,300.00
	2.3	016-011	Municipal Service Center and Traffic Control	Cycle	39	\$187.50	\$7,312.50	\$125.00	\$4,875.00
Section 3 - Fire Department Locations							\$7,987.50		\$10,890.00
	3.1	016-003	Emergency Operations	Cycle	39	\$56.25	\$2,193.75	\$100.00	\$3,900.00
	3.2	016-004	Fire Administration	Cycle	39	\$106.25	\$4,143.75	\$120.00	\$4,680.00
	3.3	016-006	Fire - South Command	Cycle	22	\$75.00	\$1,650.00	\$105.00	\$2,310.00
Section 4 - Lift Stations - to be cut on same schedule as Well Sites							\$38,875.00		\$26,870.00
	4.1	016-001	Baker Road	Cycle	20	\$43.75	\$875.00	\$32.50	\$650.00
	4.2	016-001	Gulf Coast	Cycle	20	\$56.25	\$1,125.00	\$50.00	\$1,000.00
	4.3	016-001	Woodlawn	Cycle	20	\$43.75	\$875.00	\$45.00	\$900.00
	4.4	016-001	James Street	Cycle	20	\$37.50	\$750.00	\$40.00	\$800.00
	4.5	016-001	Allenbrook	Cycle	20	\$56.25	\$1,125.00	\$32.00	\$640.00
	4.6	016-001	Cedar Bayou Lynchburg	Cycle	20	\$43.75	\$875.00	\$45.00	\$900.00
	4.7	016-001	Pinehurst	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
	4.8	016-001	Steinman	Cycle	20	\$62.50	\$1,250.00	\$50.00	\$1,000.00

4.9	016-001	# 6 (Hwy 146)	Cycle	20	\$56.25	\$1,125.00	\$38.00	\$760.00
4.1	016-001	Craigmont	Cycle	20	\$56.25	\$1,125.00	\$25.00	\$500.00
4.11	016-001	Big Missouri	Cycle	20	\$37.50	\$750.00	\$40.00	\$800.00
4.12	016-001	Cabaniss	Cycle	20	\$43.75	\$875.00	\$35.00	\$700.00
4.13	016-001	Parkridge Bend	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.14	016-001	North Main	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.15	016-001	Julie Anne Villa	Cycle	20	\$106.25	\$2,125.00	\$25.00	\$500.00
4.16	016-001	Pinehurst # 2	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.17	016-001	Cedar Bayou Community Center	Cycle	20	\$37.50	\$750.00	\$30.00	\$600.00
4.18	016-001	Point Royal	Cycle	20	\$37.50	\$750.00	\$40.00	\$800.00
4.19	016-001	North Main # 3	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.2	016-001	Mayo	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.21	016-001	Roseland	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.22	016-001	Evergreen	Cycle	20	\$43.75	\$875.00	\$32.00	\$640.00
4.23	016-001	Cedar Bayou	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.24	016-001	Bayou Bend	Cycle	20	\$25.00	\$500.00	\$25.00	\$500.00
4.25	016-001	Jenkins Park	Cycle	20	\$43.75	\$875.00	\$30.00	\$600.00
4.26	016-001	West Main	Cycle	20	\$43.75	\$875.00	\$40.00	\$800.00
4.27	016-001	Hough Wood	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.28	016-001	Cedar Bend	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.29	016-001	Little Missouri	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.3	016-001	Holly	Cycle	20	\$43.75	\$875.00	\$42.00	\$840.00
4.31	016-001	Slap-Out Gully	Cycle	20	\$43.75	\$875.00	\$35.00	\$700.00
4.32	016-001	Country Club Estates	Cycle	20	\$43.75	\$875.00	\$30.00	\$600.00
4.33	016-001	Rollingbrook	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.34	016-001	BLaffer	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.35	016-001	Animal Control	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.36	016-001	Lynnwood	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.37	016-001	North Main # 4	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.38	016-001	I-10 # 2	Cycle	20	\$43.75	\$875.00	\$25.00	\$500.00
4.39	016-001	Goose Creek	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.4	016-001	Dykes	Cycle	20	\$50.00	\$1,000.00	\$25.00	\$500.00
4.41	016-001	Tanglewilde # 2	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.42	016-001	Raccoon	Cycle	20	\$37.50	\$750.00	\$32.00	\$640.00

4.43	016-001	Trinity Oaks	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
4.44	016-001	San Jacinto	Cycle	20	\$37.50	\$750.00	\$25.00	\$500.00
Section 5 - Well Sites - To be cut on same schedule as Lift Stations						\$10,375.00		\$10,960.00
5.1	016-002	2726 Massey Tompkins	Cycle	20	\$56.25	\$1,125.00	\$52.50	\$1,050.00
5.2	016-002	1208 park Street	Cycle	20	\$56.25	\$1,125.00	\$52.50	\$1,050.00
5.3	016-002	3500 Baker	Cycle	20	\$37.50	\$750.00	\$45.00	\$900.00
5.4	016-002	607 East James	Cycle	20	\$37.50	\$750.00	\$45.00	\$900.00
5.5	016-002	4715 I-10/Red Lobster Site	Cycle	20	\$37.50	\$750.00	\$30.00	\$600.00
5.6	016-002	99 Caldwell/Red Bud and Holly Street	Cycle	20	\$37.50	\$750.00	\$35.00	\$700.00
5.7	016-002	7312 Bayway	Cycle	20	\$43.75	\$875.00	\$45.00	\$900.00
5.8	016-002	5801 Decker at the canal	Cycle	20	\$43.75	\$875.00	\$30.00	\$600.00
5.9	016-002	2300 West Main	Cycle	20	\$37.50	\$750.00	\$30.00	\$600.00
5.1	016-002	8808A Needle Point	Cycle	20	\$43.75	\$875.00	\$30.00	\$600.00
5.11	016-002	5711 North Main	Cycle	20	\$43.75	\$875.00	\$58.00	\$1,160.00
5.12	016-002	2820 East Grand Parkway South-Cedar Port Tower	Cycle	20	\$43.75	\$875.00	\$95.00	\$1,900.00
<b>Base Bid Total:</b>						<b>\$88,318.75</b>		<b>\$93,364.50</b>

Grant Smith Mowing Inc.		Yellowstone Landscape		Ambassador Services LLC		Southern Texas lawn services	
Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
	\$42,736.00		\$55,770.00		\$62,488.99		\$40,987.00
\$60.00	\$780.00	\$65.00	\$845.00	\$83.87	\$1,090.31	\$120.00	\$1,560.00
\$360.00	\$14,040.00	\$395.00	\$15,405.00	\$503.24	\$19,626.36	\$300.00	\$11,700.00
\$515.00	\$20,085.00	\$498.00	\$19,422.00	\$754.86	\$29,439.54	\$353.00	\$13,767.00
\$109.00	\$2,398.00	\$65.00	\$1,430.00	\$167.74	\$3,690.28	\$120.00	\$2,640.00
\$114.00	\$2,508.00	\$65.00	\$1,430.00	\$167.74	\$3,690.28	\$160.00	\$3,520.00
\$75.00	\$2,925.00	\$442.00	\$17,238.00	\$126.98	\$4,952.22	\$200.00	\$7,800.00
	\$7,358.00		\$23,725.00		\$13,607.36		\$34,489.00
\$95.00	\$2,470.00	\$152.00	\$3,952.00	\$217.56	\$5,656.56	\$176.00	\$4,576.00
\$115.00	\$1,495.00	\$96.00	\$1,248.00	\$167.75	\$2,180.75	\$300.00	\$3,900.00
\$87.00	\$3,393.00	\$475.00	\$18,525.00	\$147.95	\$5,770.05	\$667.00	\$26,013.00
	\$16,830.00		\$18,473.00		\$22,960.87		\$25,788.00
\$125.00	\$4,875.00	\$194.00	\$7,566.00	\$216.39	\$8,439.21	\$321.00	\$12,519.00
\$205.00	\$7,995.00	\$243.00	\$9,477.00	\$342.78	\$13,368.42	\$171.00	\$6,669.00
\$180.00	\$3,960.00	\$65.00	\$1,430.00	\$52.42	\$1,153.24	\$300.00	\$6,600.00
	\$38,180.00		\$44,000.00		\$47,261.60		\$66,400.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$65.00	\$1,300.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$100.00	\$2,000.00
\$65.00	\$1,300.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$100.00	\$2,000.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$43.00	\$860.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$109.00	\$2,180.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$120.00	\$2,400.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$320.00	\$6,400.00

\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$60.00	\$1,200.00
\$70.00	\$1,400.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$120.00	\$2,400.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$120.00	\$2,400.00
\$60.00	\$1,200.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$60.00	\$1,200.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$100.00	\$2,000.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$56.61	\$1,132.20	\$50.00	\$1,000.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$65.00	\$1,300.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$49.00	\$980.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$60.00	\$1,200.00
\$71.00	\$1,420.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$75.00	\$1,500.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$56.61	\$1,132.20	\$50.00	\$1,000.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$33.00	\$660.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$60.00	\$1,200.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$60.00	\$1,200.00
\$54.00	\$1,080.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$56.61	\$1,132.20	\$60.00	\$1,200.00
\$54.00	\$1,080.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$65.00	\$1,300.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$60.00	\$1,200.00
\$33.00	\$660.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$50.00	\$1,000.00
\$22.00	\$440.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$46.00	\$920.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$49.00	\$980.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$120.00	\$2,400.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$38.00	\$760.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$70.00	\$1,400.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$50.00	\$1,000.00
\$28.00	\$560.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00
\$60.00	\$1,200.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$50.00	\$1,000.00

\$65.00	\$1,300.00	\$50.00	\$1,000.00	\$52.42	\$1,048.40	\$70.00	\$1,400.00
\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$58.71	\$1,174.20	\$60.00	\$1,200.00
	\$15,940.00		\$15,600.00		\$12,622.20		\$34,200.00
\$70.00	\$1,400.00	\$65.00	\$1,300.00	\$52.42	\$1,048.40	\$160.00	\$3,200.00
\$55.00	\$1,100.00	\$65.00	\$1,300.00	\$58.71	\$1,174.20	\$160.00	\$3,200.00
\$55.00	\$1,100.00	\$65.00	\$1,300.00	\$50.32	\$1,006.40	\$160.00	\$3,200.00
\$55.00	\$1,100.00	\$65.00	\$1,300.00	\$41.93	\$838.60	\$160.00	\$3,200.00
\$55.00	\$1,100.00	\$65.00	\$1,300.00	\$50.32	\$1,006.40	\$100.00	\$2,000.00
\$55.00	\$1,100.00	\$65.00	\$1,300.00	\$54.51	\$1,090.20	\$70.00	\$1,400.00
\$60.00	\$1,200.00	\$65.00	\$1,300.00	\$52.42	\$1,048.40	\$160.00	\$3,200.00
\$40.00	\$800.00	\$65.00	\$1,300.00	\$52.42	\$1,048.40	\$80.00	\$1,600.00
\$60.00	\$1,200.00	\$65.00	\$1,300.00	\$56.61	\$1,132.20	\$160.00	\$3,200.00
\$75.00	\$1,500.00	\$65.00	\$1,300.00	\$52.42	\$1,048.40	\$180.00	\$3,600.00
\$87.00	\$1,740.00	\$65.00	\$1,300.00	\$50.32	\$1,006.40	\$160.00	\$3,200.00
\$130.00	\$2,600.00	\$65.00	\$1,300.00	\$58.71	\$1,174.20	\$160.00	\$3,200.00
	<b>\$121,044.00</b>		<b>\$157,568.00</b>		<b>\$158,941.02</b>		<b>\$201,864.00</b>